E 0 & AFHE®E B M A

ASts T AP A

SEXHQ el Hote =ZY

St=Z Al e (Sl & &)
SN B SR(EH) - MBAY - BES 0] &b 2 p/E-T HDE2
=S AN A& 9,724,323 9,711,878 12,445
= 2,689,000 2,689,000 0
Xl 195,000 195,000 0
a 6,840,323 6,827,878 12,445
SEXQ 2L HosE =EIMNE 6,563,673 6,551,228 12,445
= 2,689,000 2,689,000 0
Xl 195,000 195,000 0
[ia 3,679,673 3,667,228 12,445
St=S AlE A 5,636,217 5,623,772 12,445
= 2,689,000 2,689,000 0
s 2,947,217 2,934,772 12,445
ot== =4 % 2| 93,345 100,900 AT7,555
401 AIEHI L 2 CHYI 93,345 100,900 AT7,555
01 A& HI 92,445 100,000 AT7,555
Osot=& =& & 2l 92,445
SOHEONSot=E dAEHEY 20,000 0 20,000
401 AIEHIZL 2 CHEI 20,000 0 20,000
01 A& HI 20,000 0 20,000
OLESXF sOHELSoH=E AANEHES 20,000
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